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2070 >Fj)F 1 af^ nfu' ePsf] dxz'n b/ tflnsf 

 

kfOk ;fOh  
-OGrdf_ 

Go"gtd 
pkef]u  
-ln^/df_ 

 

-s_ ld^/ h*Fg ePsf] wf/fx?df 
 

-v_ ld^/ h*Fg 
gePsf wf/fx?df 

sfod ul/Psf] d'No ?= 

Go"gtd sfod 
ul/Psf] d"No ?= 

a(L kfgL k|of]u x'+bf                         
cfotgsf] cfwf/df     
-k|lt 1000 ln^/_ ?= 

 

1÷2Æ 10000 100 32 785 
3÷4Æ 27000 1910 71 4595 
1Æ 56000 3960 71 9540 
1=5Æ 155000 10950 71 26280 
2Æ 320000 22600 71 54255 
3Æ 881000 62240 71 149415 
4Æ  1810000 127865 71 306880 

 

gf]̂ M pk/f]Qm dxz'n sDkgLn] lnb} cfPsf] (n ;]jf jfktsf] 50 k|ltzt yk dxz'n sfod x'g] % . 

cGo z'Nsx? M  

-1_  ;fd'bflos wf/fx?df kfgL ljt/)FM ;fd'bflos wf/fx?df ljt/)F x'g] 10,000 ln^/;Ddsf] kfgLsf] 
dxz'n ?=100 / ;f] eGbf a(L ljtl/t kfgLsf] 1÷2 OGr kfOkaf^ vkt cfotgsf] cfwf/df 
lnOg] kfgL dxz'nsf] 70 -;Q/L_ k|ltzt ga(fO{ lng]% . 

-2_  ld^/ pknAw u/fpg] M ld^/x?sf] d"No;"lr sDkgLn] pkef]Qmfsf] hfgsf/Lsf] nflu ;fj{hlgs 
ug]{% . h; cg';f/ pkef]Qmfn] cfkm\gf] Ifdtf cg';f/ v/Lb ug{ ;Sg]%g\ . Ps} ls:tfdf ld^/ 
v/Lb ug{ g;Sg] pkef]Qmfx?nfO{ sDkgLn] 12 dlxgfsf] ls:tfjGbLdf klg laqmL ug{ ;Sg]% . 
sDkgLn] vl/b u/]sf] d"Nodf Soflna|];g tyf h*Fgsf nflu a(Ldf 10% ;Dd yk ul/ d"No 
lng ;Sg]% . u|fxsn] dfu u/]sf] ;dodf ld^/ pknAw  u/fpg] Joj:yf sDkgLn] ldnfpg] % . 
cGoyf u|fxsn] jhf/af^ ld^/ vl/b ul/ h*Fg ug{ rfx]df To:tf] ;'ljwf pknAw u/fpg ;Sg]%. 

-3_ cGo, h*Fg tyf w/f}̂ L z'Nsx? M 

qm=;+= ljj/)F sfod ul/Psf] d"No ?= s}kmLot 

1= b/vf:t b:t'/ 10  
2= u|fxs sf*{ b:t'/ 15 b'O{ jif{ k|of]u ug{ 

ldNg] 
3= 
 

:jfldTj x:tfGt/)F 1600 lj!fkg vr{ ;d]t 



4= xf]nr]~h b:t'/ 
 

Go'gtd 100 lkm^ ;Dd 
?= 

100 lkm^ eGbf a(L 
k|lt lkm^ ?= 

 1÷2Æ 2000 20 
 3÷4Æ 2800 24 
 1Æ 5000         40 
 1=5Æ 6000 50 
 2Æ 10000 70 
5= JolQmut (n ;kmfO{ b:t'/   
 Go"gtd -100 lkm^ ;Dd_ 1000  
 100 lkm^ eGbf a(Lsf]  1500  
6= kfgLsf] kfOk nfOg ;kmfO{ k'j{jt sfod  
7= ld^/ ef*f z'Ns k'j{jt sfod  
8=  gof+ wf/f h*Fg z'Ns   
 1÷2Æ 1980        22 
 3÷4Æ 2475 27 
 1Æ 3850 40 
 1=5Æ 5000 50 
 2Æ 7000 70 
 3Æ 10000 100 
 4Æ 17000 170 
9= gof+ wf/f h*Fg w/f}̂ L   
 1 1600  
 3÷4Æ 4000  
 1Æ 10000  
 1=5Æ 25000  
 2Æ 50000  
 3Æ 105000  
 4Æ 200000  
10= ljnsf] k|ltlnkL dfu 5 pk/f]Qm kmf/dx? j]e 

;fO^df klg /flvg] 
% . sfof{nodf /]s*{ 
sfod ug{ kmfOn klg 

lbOg] . 

11= gof+ wf/f h*Fg kmf/d -kmfOn ;lxt_ 20 

12= :jfldTj x:tfGt/)F kmf/d-kmfOn ;lxt_ 20 
13= Xf]nr]Gh b/vf:t kmf/d -kmfOn ;lxt_ 20 

14=  ld^/ kl/IF)F b:t'/ 100  
 
15= kfgL kl/IF)F z'Ns M sfod ul/Psf] d"No ?=  

 s]dLsn kl/If)f  495 
 cf;{]lgs kl/IF)F 300 
 h}ljs kl/If)F 300 

16= kDk kl/If)F -7=5 xif{ kfj/ IFdtf 
eGbf a(Lsf]_ 

5000  

 

 

 

 



 -04_  ^of°/ ;]jf z'NsM 

qm=;+= ^of°/ ;fOh -ln^/_ sfod ul/Psf] 
d'No ?= 

1 5000 1995 
2= 6000 2300 
3= 8000 2860 
4= 9000 3155 
5= 10000 3435 
6= k|fOe]̂  ^of°/ nfO{ kfgL laqmL k|lt #=ld= 164 
7= ;fd'bflos }̂lsx?df }̂+s/af^ kfgL lb+bf pk/f]Qm qm=;+= 1 b]lv 5 

sf] dx;'ndf 60% %'^ ul/ 40% /sddf dfq ;d'bfo ;+u 
z'Ns lng ;Sg] %  . 

 

 

-05_  e'QmfgL %'̂  tyf hl/jfgf z'Ns M 

 e'QmfgL hl/jfgf 
     lan ljt/)F ePsf] klxnf] / bf]>F] dlxgf leq  3% %'̂  
     lan ljt/)F ePsf] t]>F] dlxgf leq  hl/jfgf nfUb}g, %'̂  

x'b}g 
     lan ljt/)F ePsf] rf}yf] dlxgf leq  10% hl/jfgf 
     lan ljt/)F ePsf] kfrf} dlxgf leq  20% hl/jfgf 
     lan ljt/)F ePsf] kf+rf}+ dlxgf eGbf a(L  50% hl/jfgf 

   


